
5980 5980.5 5981 5981.5 5982
cyclenum

1−

0.5−

0

0.5

1

al
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a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta
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_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

1−
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0

0.5

1

de
lta
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Y

delta46_12X4eY:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum
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6332
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n

run:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum
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2
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3
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segment:cyclenum {run == 6330}



5980 5980.5 5981 5981.5 5982
cyclenum

96.8−

96.6−

96.4−

96.2−

96−

95.8−

95.6−

95.4−

95.2−

95−

94.8−

94.6−

us
l_

1X
usl_1X:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

1−

0.5−

0

0.5

1
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l_
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Y

usl_4aY:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

41.5

42

42.5

43

43.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

21

21.2

21.4

21.6

21.8

22

22.2

22.4

22.6

22.8

23

23.2

us
l_

4e
Y

usl_4eY:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

38.5−

38−

37.5−

37−

36.5−

us
l_

12
X

usl_12X:cyclenum {run == 6330}
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cyclenum
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6329
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6330
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n

run:cyclenum {run == 6330}



5980 5980.5 5981 5981.5 5982
cyclenum

148−

147.5−

147−

146.5−

146−us
r_

1X

usr_1X:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

2.5−

2−

1.5−

1−

0.5−

us
r_

4a
Y

usr_4aY:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

216

216.5

217

217.5

218

us
r_

4e
X

usr_4eX:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

20

20.5

21

21.5

22

us
r_

4e
Y

usr_4eY:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

42.8−

42.6−

42.4−

42.2−

42−

41.8−

41.6−

41.4−

41.2−

41−

40.8−

40.6−

us
r_
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X

usr_12X:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

6328

6328.5

6329

6329.5

6330

6330.5

6331

6331.5

6332

ru
n

run:cyclenum {run == 6330}



5980 5980.5 5981 5981.5 5982
cyclenum

31338

31338.2

31338.4

31338.6

31338.8

31339

31339.2

31339.4

31339.6

31339.8

31340

31340.2

us
l_

co
il1

usl_coil1:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

6164.2

6164.4

6164.6

6164.8

6165

6165.2

6165.4

6165.6

6165.8

6166

6166.2

6166.4

us
l_
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il3

usl_coil3:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

4128

4128.5

4129

4129.5

4130

us
l_

co
il4

usl_coil4:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

1120.5−

1120−

1119.5−

1119−

1118.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

14342.6

14342.8

14343

14343.2

14343.4

14343.6

14343.8

14344

14344.2

14344.4

14344.6

14344.8

us
l_

co
il7

usl_coil7:cyclenum {run == 6330}
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cyclenum

6328
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6329
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6330

6330.5
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6331.5

6332
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n

run:cyclenum {run == 6330}



5980 5980.5 5981 5981.5 5982
cyclenum

27771.4−

27771.2−

27771−

27770.8−

27770.6−

27770.4−

27770.2−

27770−

27769.8−

27769.6−

27769.4−

27769.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

5408−

5407.5−

5407−

5406.5−

5406−us
r_

co
il3

usr_coil3:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

4338.5

4339

4339.5

4340

4340.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

672.5−

672−

671.5−

671−

670.5−us
r_
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il6

usr_coil6:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

18897

18897.2

18897.4

18897.6

18897.8

18898

18898.2

18898.4

18898.6

18898.8

18899

18899.2

us
r_

co
il7

usr_coil7:cyclenum {run == 6330}
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cyclenum
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6331.5

6332
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n

run:cyclenum {run == 6330}



5980 5980.5 5981 5981.5 5982
cyclenum

444.4−

444.2−
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443.8−

443.6−

443.4−

443.2−

443−

442.8−

442.6−

442.4−

442.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

72−

71.5−

71−

70.5−

70−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

22.6

22.8

23

23.2

23.4

23.6

23.8

24

24.2

24.4

24.6

24.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

475.4−

475.2−

475−

474.8−

474.6−

474.4−

474.2−

474−

473.8−

473.6−

473.4−

473.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

90−

89.5−

89−

88.5−

88−

4e
X
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4eX_coil3:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum
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X
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4eX_coil7:cyclenum {run == 6330}



5980 5980.5 5981 5981.5 5982
cyclenum

173.5

174

174.5
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175.5

4a
Y

_c
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l4

4aY_coil4:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum
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36.2

36.4

36.6

36.8
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37.2

37.4

37.6

37.8
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38.2

4a
Y

_c
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l6

4aY_coil6:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

9.8−

9.6−

9.4−

9.2−

9−

8.8−

8.6−

8.4−

8.2−

8−

7.8−

7.6−

4a
Y

_c
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l7

4aY_coil7:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

183.2

183.4

183.6

183.8
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184.2

184.4

184.6

184.8
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185.2
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4e
Y
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4eY_coil4:cyclenum {run == 6330}
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cyclenum

26.5−

26−

25.5−

25−

24.5−4e
Y
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4eY_coil6:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

8−
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7−

6.5−

6−

4e
Y
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4eY_coil7:cyclenum {run == 6330}



5980 5980.5 5981 5981.5 5982
cyclenum

237.5−
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236.5−
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12
X
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12X_coil1:cyclenum {run == 6330}

5980 5980.5 5981 5981.5 5982
cyclenum

82−
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81−

80.5−

80−
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X
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12X_coil3:cyclenum {run == 6330}
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cyclenum
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2
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12X_coil4:cyclenum {run == 6330}
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cyclenum
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2
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3
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X
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12X_coil6:cyclenum {run == 6330}
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cyclenum
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X

_c
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12X_coil7:cyclenum {run == 6330}
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cyclenum

6328

6328.5
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n

run:cyclenum {run == 6330}
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